Acids and Bases Titrations
1) 32.0 mL of an unknown solution of H2SO4 was titrated to the end point with 57.0 mL of 0.507 M KOH.  What is the concentration of the sulfuric acid?

2) In a titration, 15.2 mL of a .300 M solution of H2CO3 was used to neutralize 28.8 mL of LiOH.  What is the molarity of LiOH?

3) In the titration of 50.0 mL of an NH3 solution, the end point was reached when 27.8 mL of 0.124 M HCl was added.  What is the concentration of the ammonia solution?

4) 64.0 mL of HC2H3O2 was neutralized by 16.0 mL of 0.0752 M Ca(OH)2.  Calculate the concentration of the acetic acid.

5) What volume of 0.150 M H3PO4 neutralizes 40.0 mL of 0.277 M Ba(OH)2?

